\G?-So
AL 2 SO~ ) —|
} I« (T) = 4b250 ¢
r\xz ——
67—30_ Q \/ (/‘*l)g——"l
@?’%O /“1233/ (1+ Y”*i
(f‘f‘{)g._...} "L/_“““-
4) =1
%ﬂyg_f = 0,4136362 FOWOMO
(H-{) — X
X — 4 Tt ('*‘)8:7&
Xz \““: O,é?%e@Q
7~ - .
— — = 0,4 }36842 X F# A+ # -l
(AAT A £ D
Y
_ . O/\J\’}‘BQ%C\Q
X 14

J - 0¥ (% ﬂ\
A= O,H"—?—EQ%({LX + Ol('\i ’%C”%L\Z
0, 413206 SLAX = O S16315%

Y = M/I/I/IMS%
[(A M,ﬂ ey ’\)/‘“
Itk = 400663007
A =7,669

= g = e




O

L A A T

i ienss oy

o
I's'

R:‘iQ.OO (‘i—-’}\')-i ﬁ_{ia*arM q
o= 4920 ﬂ ) S — *
ib?f?_ o A y Pra
Tooo | 12© A o
l Gf)rﬁ(ibk) e >>{ Mg

A2 IAACEEEY = oL

0,{{)1;7



